Original article

Body Perceptions of Female Athletes Aged Between 11 and 14

Murat Şakar¹, Melek Bayındır², Tahir Kılıç³

¹School of Physical Education and Sports, Munzur University, Tunceli, Turkey; ²Graduate Education Institute, Sakarya University of Applied Sciences, Sakarya, Turkey; ³Faculty of Spots Sciences, Akdeniz University, Antalya, Turkey.

Abstract. Study Objectives: This study aimed to examine the body perception levels of women aged between 11 and 14, including those not playing sports and playing sports according to their sports branches. Method: the study was carried out with 140 female participants between ages 11 and 14. The study group consists of 80 licensed women athletes playing volleyball (n:28), basketball (n:25), badminton (n:9), and swimming (n:18) and also 60 women who are educated in the same school but do not actively play sports. Participants were included in the study voluntarily. The data were measured for the 2017-2018 academic calendar by using the "The Multidimensional Body-Self Relations Questionnaire (MBSRQ)". The Turkish validity and reliability of this scale were performed. Results: The appearance orientation scores of individuals who play individual and team sports were found to be significantly lower than those who do not. It was observed that there was a significant difference in the body perception levels of women playing and not playing sports. Moreover, there was a significant difference between the fitness evaluation, fitness orientation, and overall scale scores according to age, branch, and sports status. On the other hand, there was no significant difference between the scores of appearance evaluation, health orientation, body areas satisfaction, appearance orientation, and health evaluation. Conclusion: The formation of a positive body image can be achieved by actively participating in sports and physical activities in adolescence. It should be encouraged as a state policy that adolescents participate in social sportive communities where they can establish healthy relationships. To have adult behaviors and to struggle with life, for individuals with reduced anxiety levels, high self-esteem and self-confidence, and satisfaction with their body image, organized planning and precautions should be performed to adapt them to life.

Key words: Body perception, women playing and not playing sports, multidimensional body-self relations

Introduction

Self-esteem and body image is an important structure that has become more popular in social sciences and daily life with increasing value. Intuitively, it can be said that weak or low self-esteem is undesirable and studies have associated low self-esteem with loneliness depression, and social alienation (1-4). The self-esteem concept is simple. According to its dictionary definition, it is to value something and reward it. Self-esteem, in the common expression, is what one rewards, values, approves of, or loves oneself. In social

sciences, self-esteem is a hypothetical structure that is quantified as the sum of assessments among distinctive features of one's self or personality. It is a general emotional assessment of one's worth or importance. It is the assumption that measuring one's attitudes or assessment reflects one's self-esteem. The self-esteem concept is named in dictionaries with various definitions of self-respect that are in accordance with each other (5). Considering the whole of human life, the adolescence period is important for the development of behaviors and attitudes that continue until adulthood becoming a personality (6). The studies conducted on

adolescents have reported that compared to individuals with less physical activity, physically active individuals are more successful in dealing with socio-emotional difficulties, are less likely to encounter health problems, are more successful in combating depressive behaviors, and have lower rates of obesity, which is the most common disorder of our age (7-9). When the adolescent population was examined, it was stated that the mental health and well-being of physically active individuals were supported as a result of physical activity, as well as positive effects on increased happiness, improvement in an emotional state, and decreased anxiety level were reported (10-12). It was reported in the studies focusing on adolescents that physical activity contributed to the socialization of individuals, such as creating a positive self-image and self-esteem and receiving positive social feedback in peer relations, also contributed to reducing the social anxiety level and adapting them to their social groups, which was a significant advantage (13,14). Body perception may have different definitions. At the origin of definitions, body image, body ego, and boundaries of the body can be mentioned. The concept of body perception can also be considered as a situation in which individuals indicate themselves with their measured values (15). Body perception is the emotional integrity shaped by images (16). Different authors stated their values for body perception. Schilder said that "The way we perceive our body appearance, and our feelings determine our body perception." (17). According to Güney, (2018) body perception is the self-image of the individual, which is formed as a result of the feedback received from the social environment about his/her body image (18). Bektaş, (2004) commented that "Body image includes a cognitive approach that has perceptions about the body and body-related experiences, and also an emotional approach about being happy because of the image." (19). Examining all the definitions, the common opinion is that body perception can be indicated as the difference between the way the one perceives himself/herself, i.e his/her physical appearance and the physical appearance he feels/sees. Body perception is shaped and developed under the influence of the environment and situations where the self grows until adulthood (20), Body image has become a part of the culture, as the image of the individual

influences his/her acceptance and status in the social environment (21). The concept of ideal body perception determined by society is increasingly considered more important than the state of being healthy (22). Moreover, the person's ability to perceive himself/herself properly is very important for body satisfaction and self-esteem. The self can also be thought of as a cognitive structure organized due to the experiences of the individual (23). High self-esteem was defined by Pole and Hale as a healthy self-concept (24). In many countries, the beauty perception is considered to have a fine body. In addition, it is also considered that those who pay attention to their body and weight love their bodies and themselves, and accordingly, their selfesteem is high (25). At this point, one's recognition and evaluation of his/her body is an important factor in the formation of one's self-esteem and confidence (26). The study aimed to evaluate the body perceptions of adolescents, who are in the most significant developmental stage of their lives, according to their physical activity types and the state of playing any sports.

Material and Methods

Participants

Participants included in the study were determined voluntarily. Written consent was obtained from the individuals before the study. The data were collected through a questionnaire prepared by the researcher in the 2017-2018 academic calendar.

Purpose of the Study

The purpose of the study is to determine the body perception levels of women playing and not playing sports according to their age groups and to investigate whether there is a significant difference between them in terms of perception of their bodies.

Accordingly, sub-problems are determined as follows:

- 1. Based on the sporting status of participants.
 - a. Age, branch, playing or not playing sports

- 2. According to the status of playing or not playing sports of participants in the study.
 - a. How is their participation in the items of the multidimensional body-self relations scale?
 - b. Is there a significant difference between the scores of the multidimensional bodyself relations scale?
- 3. Based on the branches of participants.
 - a. Is there a significant difference between the items of the multidimensional bodyself relations scale?

Significance of the Study

The study is important in terms of comparing the body perception levels of women who are engaged in swimming, badminton, basketball, and volleyball according to sports branches. At the end of the study, because female athletes will have different body perception levels according to their sports branches, the families of children and adolescents and the coaches need to guide the female athletes who want to deal with any of these branches. It is considered that the results of the study will contribute to the individuals who will just start sports, their families, and educators.

Assumptions and Boundaries of the Study

Based on the assumptions in the study, women not playing sports do not participate in any sports activities. It is also assumed that women playing sports do not play any sports other than their sports branch discussed in the study. The study is limited to women who are actively engaged in licensed sports in the 2017-2018 academic calendar and those not playing sports but involved in active education and training.

Study Model

The research is the scanning model. Body perception of women who play and do not play sports constitutes the dependent variable. Age, sports status, and sports branch are the independent variables.

Collection of Data

The Multidimensional Body-Self Relations Questionnaire

A questionnaire form was prepared to collect data about the participants. It was created by the researcher after a sufficient literature review on the subject.

This scale was transformed from a 140-item scale originally developed by Cash et al. (1986) to a short 54-item form to evaluate attitudinal aspects of body image. It includes 54 items by adding 9 items related to body areas and 6 items related to body weight (27). The Multidimensional Body-Self Relations Questionnaire consists of 7 subscales:

- 1. Appearance Evaluation (AE)
- 2. Appearance Orientation (AO)
- 3. Fitness Evaluation (FE)
- 4. Fitness Orientation (FO)
- 5. Health Evaluation (HE)
- 6. Health Orientation (HO)
- 7. Body Areas Satisfaction (BAS)

A 5-point Likert scale was used in the study.

The scale was translated into Turkish by Doğan (1992). Necessary analyzes, validity, and reliability studies were also performed (28).

Scoring of the Scale: It is expected from the sample group to mark one of the 5 most suitable options for them. Options and scores are listed as follows: (1) Strongly disagree, (2) Disagree, (3) Neither agree nor disagree, (4) Agree, (5) Strongly agree. There are items with reverse expression in the scale (12.13.14.25.26. 27.29.30.31.33.35.37.39.40.41). In these items, the options are reverse scored as 5.4.3.2 and 1 respectively. By dividing the total score of the participants in a group by the total number of participants, scale mean score (SMS) is calculated by adding the scores of a subject from all items, subgroup mean score (SGMS) is calculated by dividing by the number of subgroup items while the item means score (IMS) is found by dividing the scale total score of a subject by the number of scale items. A participant can obtain a minimum of 57 and a maximum of 285 points from the scale. High scores indicate a healthy body and a higher self-image.

Statistical analysis

IBM SPSS Statistics 22 (IBM SPSS, Turkey) software was used in the study for statistical analyses. While evaluating the study data, the Shapiro Wilks test was used for the conformity of parameters to the normal distribution. In addition to descriptive statistical methods (mean, standard deviation, frequency), in comparing quantitative data, the One-Way Anova test was used to compare normally distributed parameters between groups, while the Tukey HDS test and Tamhane's T2 test were used to determine the group causing the difference. The student t test was used for the comparison of normally distributed parameters between two groups. Chi-Square test, Fisher's Exact test, Fisher Freeman Halton test, and Continuity (Yates) Correction were used in comparing qualitative data. Significance was evaluated at the p<0.05 level.

Results

Information on the research results is given below. According to the research findings, when viewed in table 1, with 28.6% of respondents aged 11 years, 12 years is 22.9%, 24.3% in 13 years, 14 years of 24.3%. Branch distributions are swimming 12.9%, Basketball 17.9%, Volleyball 20.0%, not playing sport 42.9%, playing sport 57.1%, not playing sport 42.9% (Table 1).

According to the research findings, when viewed in table 2. Scale subdimension scores of participants with respect to aged 11 years, AE (Appearance Evaluation) 3.90±0.637, AO (Appearance Orientation) 4.01±0.625, FE (Fitness Evaluation) 4.18±0.629, FO (Fitness Orientation) 3.97±0.817, (Health Evaluation) 3.98±0.619, HO (Health Orientation) 3.82 ± 0.612 , BAS (Body Areas Satisfaction) 4.20 ± 0.682 , 12 years, AE 3.93 ± 0.497 , AO 3.91 ± 0.719 , FE 4.03±0.615, FO 3.81±0.872, HE 3.94±0.694, HO 3.61±0.550, BAS 4.16±0.707,13 years, AE 3.44±0.729, AO 3.66±0.851, FE 3.58±0.716, FO 3.33±0.940, HE 3.64±0.464, HO 3.29±0.639, BAS $3.66\pm0.859,14$ years, AE 3.76 ± 0.723 , AO 4.04 ± 0.769 , FE 3.85±0.772, FO 3.76±0.760, HE 3.66±0.605, HO 3.60 ± 0.527 , BAS 3.79 ± 0.941 .

According to the research findings, when viewed in table 3. Scale subdimension scores of participants with respect to sports branch, swimming AE 3.67±0.521, AO 3.28±0.808, FE 4.15±0.639, FO 4.15±0.355, HE 3.79±0.669, HO 3.68±0.545, BAS 3.77±0.647, basketball, AE 3.42±0.739, AO 3.62±0.655, FE 3.84±0.774, FO 4.00±0.522, HE 3.97±0.575, HO 3.67±0.627, BAS 3.68±1.128, badminton, AE 4.07±0.457, AO 4.33±0.687, FE 4.19±0.282, FO 4.19±0.236, HE 3.56±0.425, HO 3.61±0.407, BAS 4.14±0.509, volleyball, AE 4.04±0.490, AO 3.85±0.555, FE 4.41±0.431, FO 4.35±0.397, HE 3.88±0.575, HO 3.68±0.555, BAS 4.34±0.676, not playing sports, AE 3.76±0.732, AO 4.18±0.702, FE 3.62±0.713, FO 3.13±0.952, HE 3.76±0.651, HO 3.49±0.671, BAS 3.93±0.778.

According to the research findings, when viewed in table 4. Scale subdimension scores of participants with respect to sports status, playing sports AE 3.77 ± 0.637 , AO 3.71 ± 0.720 , FE 4.15 ± 0.629 , FO 4.17 ± 0.436 , HE 3.85 ± 0.586 , HO 3.67 ± 0.553 , BAS 3.98 ± 0.894 , not playing sports AE 3.76 ± 0.732 , AO 4.18 ± 0.702 , FE 3.62 ± 0.713 , FO 3.13 ± 0.952 , HE 3.76 ± 0.651 , HO 3.49 ± 0.671 , BAS 3.93 ± 0.778 .

When the Comparison of participants' scale scores with respect to age were compared, there appears to be statistically significant. Appearance Orientation (AO) statistical significance was not found between age groups.

Table 1. Distribution of age, sports branch, sports status variables

Variables		f	%
	11	40	28.6
	12	32	22.9
AGE	13	34	24.3
	14	34	24.3
	Total	140	100.0
	Swimming	18	12.9
	Basketball	25	17.9
BRANCH	Badminton	9	6.4
BRANCH	Volleyball	28	20.0
	Not Playing Sports	60	42.9
	Total	100	100.0
PLAYINGSPORTS	Playing Sports	80	57.1
NOT PLAYING	Not Playing Sports	60	42.9
SPORTS	Total	140	100.0

Table 2. Scale subdimension scores of participants with respect to age

Age		AE	AO	FE	FO	HE	НО	BAS	GTT
11	X	3.90	4.01	4.18	3.97	3.98	3.82	4.20	4.00
	N	40	40	40	40	40	40	40	40
	SD	0.637	0.625	0.629	0.817	0.619	0.612	0.682	0.422
12	X	3.93	3.91	4.03	3.81	3.94	3.61	4.16	3.89
	N	32	32	32	32	32	32	32	32
	SD	0.497	0.719	0.615	0.872	0.694	0.550	0.707	0.445
13	X	3.44	3.66	3.58	3.33	3.64	3.29	3.66	3.50
	N	34	34	34	34	34	34	34	34
	SD	0.729	0.851	0.716	0.940	0.464	0.639	0.859	0.431
14	X	3.76	4.04	3.85	3.76	3.66	3.60	3.79	3.78
	N	34	34	34	34	34	34	34	34
	SD	0.723	0.769	0.772	0.760	0.605	0.527	0.941	0.486
TOTAL	X	3.76	3.91	3.92	3.73	3.81	3.59	3.96	3.80
	N	140	140	140	140	140	140	140	140
	SD	0.677	0.748	0.715	0.872	0.614	0.61	0.825	0.479

Table 3. Scale subdimension scores of participants with respect to sports branch

		AE	AO	FE	FO	HE	НО	BAS	GTT
	X	3.67	3.28	4.15	4.15	3.79	3.68	3.77	3.76
SWIMMING	N	18	18	18	18	18	18	18	18
	SD	0.521	0.808	0.639	0.355	0.669	0.545	0.647	0.381
	X	3.42	3.62	3.84	4.00	3.97	3.67	3.68	3.74
BASKETBALL	N	25	25	25	25	25	25	25	25
	SD	0.739	0.655	0.774	0.522	0.575	0.627	1.128	0.585
	X	4.07	4.33	4.19	4.19	3.56	3.61	4.14	4.01
BADMINTON	N	9	9	9	9	9	9	9	9
	SD	0.457	0.687	0.282	0.236	0.425	0.407	0.509	0.220
	X	4.04	3.85	4.41	4.35	3.88	3.68	4.34	4.06
VOLLEYBALL	N	28	28	28	28	28	28	28	28
	SD	0.490	0.555	0.431	0.397	0.575	0.555	0.676	0.327
	X	3.76	4.18	3.62	3.13	3.76	3.49	3.93	3.69
NOT PLAYING SPORTS	N	60	60	60	60	60	60	60	60
	SD	0.732	0.702	0.713	0.952	0.651	0.671	0.778	0.502
	X	3.76	3.91	3.92	3.73	3.81	3.59	3.96	3.80
TOTAL	N	140	140	140	140	140	140	140	140
	SD	0.677	0.748	0.715	0.872	0.614	0.61	0.825	0.479

When the Comparison of participants' scale scores with respect to sports branch were compared, there appears to be statistically significant. Health Evaluation (HE), Health Orientation (HO), Body

Areas Satisfaction (BAS) statistical significance was not found between sports branch.

When the Comparison of participants' scale scores with respect to sports status were compared, there

		AE	AO	FE	FO	HE	НО	BAS	GTT
	X	3.77	3.71	4.15	4.17	3.85	3.67	3.98	3.88
PLAYING SPORTS	N	80	80	80	80	80	80	80	80
STORTS	SD	0.637	0.720	0.629	0.436	0.586	0.553	0.894	0.447
	X	3.76	4.18	3.62	3.13	3.76	3.49	3.93	3.69
NOT PLAYING SPORTS	N	60	60	60	60	60	60	60	60
STORTS	SD	0.732	0.702	0.713	0.952	0.651	0.671	0.778	0.502
	X	3.76	3.91	3.92	3.73	3.81	3.59	3.96	3.80
TOTAL	N	140	140	140	140	140	140	140	140
	SD	0.677	0.748	0.715	0.872	0.614	0.61	0.825	0.479

Table 4. Scale subdimension scores of participants with respect to sports status

Table 5. Comparison of participants' scale scores with respect to age

		Sum of Squares	df	X	F	p
	Between Groups	5.344	3	1.781		
AE	Within Groups	58.271	136	0.428	4.157	0.007
	Total	63.615	139			
	Between Groups	3.008	3	1.003		
AO	Within Groups	74.673	136	0.549	1.826	0.145
	Total	77.681	139			
	Between Groups	7.253	3	2.418		
FE	Within Groups	62.717	136	0.469	5.161	0.002
	Total	70.97	139			
	Between Groups	7.822	3	2.607		0.015
FO	Within Groups	97.841	136	0.719	3.624	
	Total	105.663	139			
	Between Groups	3.37	3	1.123		0.028
HE	Within Groups	49.086	136	0.361	3.112	
	Total	52.456	139			
	Between Groups	5.083	3	1.694		
НО	Within Groups	46.66	136	0.343	4.939	0.003
	Total	51.744	139			
	Between Groups	7.544	3	2.515		
BAS	Within Groups	87.17	136	0.641	3.923	0.01
	Total	94.714	139			
	Between Groups	4.848	3	1.616		
GTT	Within Groups	27.009	136	0.199	8.137	0.000
	Total	31.857	139			

appears to be statistically significant (AO, FE, FO, GTT). Appearance Evaluation (AE), Health Evaluation (HE), Health Orientation (HO), Body Areas Satisfaction (BAS) statistical significance was not found between sports status.

Discussion and Conclusion

In the study, when the mean scores obtained from all dimensions of the scale with respect to age were examined, the results were found to be 4.00±0.422,

Table 6. Comparison of participants' scale scores with respect to sports branch

		Sum of Squares	df	X	F	р
	Between Groups	6.155	4	1.539		
AE	Within Groups	57.46	135	0.426	3.615	0.008
	Total	63.615	139			
	Between Groups	15.093	4	3.773		
AO	Within Groups	62.588	135	0.464	8.139	0.000
	Total	77.681	139			
	Between Groups	13.993	4	3.498		
FE	Within Groups	56.978	135	0.423	8.289	0.000
	Total	70.97	139			
FO	Between Groups	38.866	4	9.716		0.000
	Within Groups	66.798	135	0.495	19.637	
	Total	105.663	139			
	Between Groups	1.578	4	0.394		0.386
HE	Within Groups	50.878	135	0.377	1.047	
	Total	52.456	139			
	Between Groups	1.053	4	0.263		
но	Within Groups	50.691	135	0.375	0.701	0.593
	Total	54.744	54.744 139			
	Between Groups	6.941	4	1.735		
BAS	Within Groups	87.773	135	0.65	2.669	0.035
	Total	94.714	139		1	
	Between Groups	3.04	4	0.76		
GTT	Within Groups	28.817	135	0.213	3.561	0.009
	Total	31.857	139			

 3.89 ± 0.445 , 3.50 ± 0.431 , and 3.80 ± 0.479 for the age of 11.12.13.14 and total, respectively.

In the study, statistical significance was observed between age and appearance evaluation, fitness evaluation, fitness orientation, and body areas satisfaction, but no statistical significance was observed in appearance orientation. In the evaluation of the branch subdimension, statistical significance was observed in appearance evaluation, appearance orientation, fitness evaluation, fitness orientation, body areas satisfaction while there was no significant difference between health evaluation and health orientation scores. For the sports status sub-dimension, there was statistical significance in the appearance orientation, fitness evaluation, and fitness orientation, but there was no significant difference between appearance evaluation, health evaluation, health orientation, body areas satisfaction

scores. As a result, there was a statistically significant difference between the fitness evaluation, fitness orientation, and overall scale scores according to age, sports

Table 7. Comparison of participants' scale scores with respect to sports status

	t-Test					
	t	df	р			
AE	0.072		0.943			
AO	-3.865		0.000*			
FE	4.668		0.000*			
FO	8.666	138	0.000*			
HE	0.920	136	0.359			
НО	1.661		0.099			
BAS	0.390		0.697			
GTT	2.373		0.019*			

branch, and sports status, but there was no significant difference between appearance evaluation, health orientation, body areas satisfaction, appearance orientation, and health evaluation scores.

Robinson and Ferraro (2004) reported that there was no difference in body images between groups that play and do not play sports and that women not playing sports were more dissatisfied with their bodies than those playing sports (29). In a similar study, Huddy et al. (1997) reported that those playing sports were more satisfied with their physical appearance and body perception (30). It has been suggested that physical activity can have a positive impact on mental health and well-being among adolescents because it improves self-image and reduces social rejection and anxiety as a result of positive social feedback and acceptance in peer relationships (31).

It should be kept in mind that individuals engaged in physical activity in adolescence may harm their body perceptions if they engage in extremely competitive sports (32).

The formation of a positive body image can be achieved by actively participating in sports and physical activities in adolescence. It should be encouraged as a state policy that adolescents participate in social sportive communities where they can establish healthy relationships. Considering the adolescent population, there is a sedentary lifestyle preference where obesity and screen addiction is considerably increasing. To have adult behaviors and to struggle with life, for individuals with reduced anxiety levels, high self-esteem and self-confidence, and satisfaction with their body image, organized planning and precautions should be performed to adapt them to life. The most realis- tic approach in this regard is that individuals who do sports in education and training institutions should be supported with various additional points and time and physical conditions should be created for their efforts. According to the results of this study performed on female adolescents, a certain age group was preferred. More comprehensive studies in different populations and with different sexes should be planned. One of the important points that should be considered is that a physically and mentally healthy society will have positive reflections on its internal structure. It should be the primary duty of all scientists and educators that

they make and shape the future physically active and attractive for people.

Conflicts of interest: The authors declare that there is no conflict of interest about this manuscript.

References

- Peplau, L. A., and Perlman, D. (Eds.) Loneliness: A sourcebook of current theory, research, and therapy.1982. New York: Wiley-Interscience
- 2. Shaver, P. R., and Brennan, K. A. Attachment styles and the "Big Five" personality traits: Their connections with each other and with romantic relationship outcomes. Personality and Social Psychology Bulletin.1992. 18(5), 536–545. https://doi.org/10.1177/0146167292185003
- Leary, M. R. (1983). Social anxiousness: The construct and its measurement. Journal of Personality Assessment. 1983. 47(1), 66-75. doi: 10.1207/s15327752jpa4701.
- 4. Robin M.Williams, jr. Chapter 2:Change and stability in values and value systems; A socialogical perspective. Understanding human values individual and societel. Milton Rokeach. Callior macmillon publishers. 1979. Iondon
- Currie, C., Nic Gabhainn, S., Godeau, E. et al. The Health Behaviour in School-aged Children: WHO Collaborative Cross-National (HBSC) Study: origins, concept, history, and development 1982–2008. Int J Public Health. 2009. 54, 131–139 https://doi.org/10.1007/s00038-009-5404-x
- 6. Cara L. Booker, Alexandra J. Skew, Yvonne J. Kelly, and Amanda Sacker. Media Use, Sports Participation, and Well-Being in Adolescence: Cross-Sectional Findings from the UK Household Longitudinal Study. Am J Public Health. 2015. 105(1): 173–179. doi: 10.2105/AJPH. 2013.301783.
- Iannotti RJ, Janssen I, Haug E et al. Interrelationships of adolescent physical activity, screen-based sedentary behaviour, and social and psychological health. Int J Public Health. 54 (suppl 2). 2009. 191–198.
- 8. Tremblay MS, LeBlanc AG, Kho ME et al. System-atic review of sedentary behviour and health indicators in school-aged children and youth. Int J Behav Nutr Phys Act. 2011. 8:98.
- 9. Andersen JR, Natvig GK, Aadland E, Moe VF, Kolotkin RL, Anderssen SA, Resaland GK Associations between health-related quality of life, cardiorespiratory fitness, muscle strength, physical activity, and waist circumference in 10-year-old children: the Ask study. Qual Life Res. 2017. 26(12):3421-3428.
- Biddle SJ, Asare M Br. Physical activity and mental health in children and adolescents: a review of reviews. J Sports Med. 2011. 45(11):886-95.
- Lubans D, Richards J, Hillman C, Faulkner G, Beauchamp M, Nilsson M, Kelly P, Smith J, Raine L, Biddle S. Physical

- Activity for Cognitive and Mental Health in Youth: A Systematic Review of Mechanisms. Pediatrics. 2016. 138(3).
- 12. Kirkcaldy BD, Shephard RJ, Siefen RG. The relation-ship between physical activity and self-image and problem behaviour among adolescents. Soc Psychiatry Psychiatr Epidemiol. 2002. 37(11):544-50.
- 13. Wen CKF, Liao Y, Maher JP, Huh J, Belcher BR, Dzubur E, Dunton GF. Relationships among affective states, physical activity, and sedentary behavior in children: Moderation by perceived stress..Health Psychol. 2018. 37(10):904-914
- 14. Alagül, Ö. Farklı spor branşlarındaki sporcuların atılganlık ile beden algısı ilişkisi. Yüksek Lisans Tezi, Ege Üniversitesi Sağlık Bilimleri Enstitüsü. 2004. İzmir.
- 15. Yılmaz, H.Ö., Obez Bireylere Verilen Beslenme Eğitiminin Beden İmgesiyle Uğraşıya, Beslenme Davranışına ve Kilo Vermeye Etkisi, Marmara Üniversitesi, Sağ.Bil. Ens. Halk Sağlığı Yüksek Lisans Tezi. 2009.
- 16. Paul Schilder. The image and appearance of the human body: studies in the constructive energies of the psyche. Taylor and Francis. 1950.Routledge.
- 17. Güney, C. 15-18 yaş arası ergenlerde beden imgesi ile sosyal anksiyete arasındaki ilişkide kişilik özelliklerinin aracı etkisinin incelenmesi. İstanbul: Işık Üniversitesi Sosyal Bilimler Enstitüsü.2018.
- Bektaş, D. Y. Ergenlerde beden imgesi üzerine bir çalışma.
 Türk Psikolojik Danışma ve Rehberlik Dergisi. 2004. 3(22), 67-75.
- 19. Gören,Ş,Y. Plastik ve Rekonstrüktif Cerrahi Hastalarında Preop ve Postop Dönemde Beden İmajı ve Benlik Saygısının Değerlendirilmesi, Afyon Kocatepe Üniversitesi, Yüksek Lisans Tezi. 2009
- Öngören, B. Sosyolojik Açıdan Sağlıklı Beden İmgesi. Sosyal ve Beşerî Bilimler Araştırmaları Dergisi, 2015. 16 (34), 25-45. Retrieved from (https://dergipark.org.tr/tr/pub/sobbiad/issue/36373/412313).
- Oğuz, G. Y. Bir güzellik miti olarak incelik ve kadınlarla ilgili beden imgesinin televizyonda sunumu. Selçuk Üniversitesi İletişim Fakültesi Akademik Dergisi. 2005. 4(1), 31-37
- 22. Adams, C. E., and Leary, M. R. Promoting self-compassionate attitudes toward eating among restrictive and guilty eaters. Journal of Social and Clinical Psychology. 2007.26(10), 1120-1144.
- Cooke, D. J., and Michie, C. Psychopathy across cultures: North America and Scotland compared. Journal of

- Abnormal Psychology. 1999. 108(1), 58–68. https://doi.org/10.1037/0021-843X.108.1.58
- 24. Ata, A, Vural, A, Keskin, F. Beden Algısı ve Obezite. Ankara Medical Journal. 2014. 14 (3). DOI: 10.17098/ amj.02494.
- 25. Uğur, G. "Üniversite Öğrencilerinde Atılganlık ve Beden Algısı İlişkisi" Yüksek Lisans Tezi, Ege Üniversitesi Sosyal Bilimler Enstitüsü. 1996. İzmir,
- Cash, T. F., Winstead, B. W., and Janda, L. H. The great American shape-up: Body image survey report. Psychology Today. 1986. 20(4), 30–37.
- Doğan, O. Çok yönlü beden self ilişkileri ölçeği el kitabı.
 Cumhuriyet Üniversitesi yayınları, no. 53.1992.
- 28. Kirsten R., Feliciano F. The Relationship Between Types of Female Athletic Participation and Female Body Type. The Journal of Psychology Interdisciplinary and Applied. 2004. 138(2):115-28. DOI:10.3200/JRLP.138.2.115-128.
- 29. D. Craig Huddy, Robert L. Johnson, Michael H. Stone. Relationship between Body Image and Percent Body Fat among Male and Female College Students Enrolled in an Introductory 14-Week Weight- Training. 1997. Course. https://doi.org/10.2466/pms.1997.85.3.1075.
- Kirkcaldy BD, Shephard RJ, Siefen RG. The relationship between physical activity and self-image and problem behaviour among adolescents. Soc Psychiatry Psychiatr Epidemiol.2002. 37(11):544-50.
- 31. Asteria Brylka, Dieter Wolke, Sebastian Ludyga, Ayten Bilgin, Juliane Spiegler, Hayley Trower, Anna Gkiouleka, Markus Gerber, Serge Brand, Alexander Grob, Peter Weber, Kati Heinonen, Eero Kajantie, Katri Räikkönen, and Sakari Lemola. Physical Activity, Mental Health, and Well-Being in Very Pre-Term and Term Born Adolescents: An Individual Participant Data Meta-Analysis of Two Accelerometry Studies. Int J Environ Res Public Health. 2021.18(4): 1735.

Correspondence Melek BAYINDIR

Graduate Education Institute, Sakarya University of Applied Sciences, Sakarya, Turkey E-mail: melybayndr@gmail.com